PROPERTIES OF SOME SUBCLASSES OF MULTIVALENT FUNCTIONS ASSOCIATED WITH CLOSE-TO-CONVEX FUNCTION

S.V. Parmar¹, Dr. S.M. Khairnar²

¹Research Scholar, Department of Mathematics, University of Pune (India)
 ² Professor & Head of Department of Engg. Sciences, Dean (R & D)
 MIT Academy of Engineering, Alandi, Pune. (India)

ABSTRACT

For analytic function f(z) normalized with f(0)=0 and f'(0)=1 in the open unit disk U. A new class $L_1^*(\beta_1, \beta_2, \lambda)$ of f(z) satisfying some conditions with some complex number β_1 , β_2 and some real number λ . The aim of present paper is to discuss some properties for $L_1^*(\beta_1, \beta_2, \lambda)$ of f(z) associated with close-to-convex in U.

Mathematics Subject Classification: 30C45

Keywords: Analytic And Univalent Functions; Multivalent Functions; A-Convex Functions; Coefficients Bounds.

I INTRODUCTION AND DEFINITIONS

Let A denote the class of functions of the form:

 $f(z) = z^{p} + \sum_{n=1}^{\infty} a_{n+p} z^{n+p} \quad (a_{n} \in C)$ (1.1)

Which are analytic and p-valent in the open disc $U = \{z \in C/|z| < 1\}$.

Let $R(\alpha)$ denote the subclass of A consisting of functions f(z) which satisfy

Re f'(z) > α (z \in U) for some real α (0 $\leq \alpha <$ 1).

A function $f(z) \in R(\alpha)$ is said to be close-to-convex of order α in U (cf. Goodman[2])

We know that $R(\alpha_2) \subset R(\alpha_1)$ for $(0 \le \alpha_1 \le \alpha_2 < 1)$ and $R(\alpha) \subset A$ by

Noshiro-Warshawski theorem (cf. Duren [3]).

Let $L_1^*(\beta_1, \beta_2, \lambda)$ denote the subclass of A defined as follow:

$$L_{1}^{*}(\beta_{1},\beta_{2},\lambda) = \left\{ f \in A : \left| \frac{f'(z) - p \, z^{p-1}}{\beta_{1} f'(z) + \beta_{2} p \, z^{p-1}} \right| \leq \lambda \right\}$$

For some complex β_1, β_2 and for some real λ .

Let T denote the subclass of A consisting of functions of the form:

$$f(z) = z^{p} - \sum_{n=1}^{\infty} a_{n+p} \, z^{n+p} \, (a_{n} \ge 0)$$
(1.2)

Further, let $L^*(\beta_1, \beta_2, \lambda)$ denote the subclass of $L_1^*(\beta_1, \beta_2, \lambda)$ by

$$L^*(\beta_1,\beta_2,\lambda) = L^*_1(\beta_1,\beta_2,\lambda) \cap T$$

for some real number $\beta_1 (0 \le \beta_1 \le 1)$ and $\beta_2 (0 < \beta_2 \le 1)$ and

for some real number $\lambda (0 < \lambda \leq 1)$.

The class $L^*(\beta_1, \beta_2, \lambda)$ was studied by Kim and Lee [4] for univalent function.

We note that :

1) $L^*\left(\beta_1, 1, \frac{1-\beta_1}{1+\beta_1^2}\right) = P^*(\beta_1)$, where $P^*(\beta_1)$ is the class of functions $f(z) \in T$ which satisfy Re

 $f'(z) > \beta_1$. The class $P^*(\beta_1)$ was studied by Kim and Lee, Sarangi and Uralegaddi and Al. Amiri for univalent functions.

2) $L^*(0,1,\lambda) = G^*(\lambda)$, where $G^*(\lambda)$ is the class of functions $f(z) \in T$ which satisfy $|f'(z) - 1| \le \lambda$. The class $G^*(\lambda)$ was introduced by Kim and Lee for univalent function.

3) $L^*(1,1,\lambda) = D^*(\lambda)$, where $D^*(\lambda)$ is the class of functions $f(z) \in T$ which satisfy

 $\left|\frac{f'(z)-1}{f'(z)+1}\right| \leq \lambda$. The class $D^*(\lambda)$ was introduced by Kim and Lee [4] for univalent function.

II PROPERTIES OF THE CLASS $L_1^*(\beta_1, \beta_2, \lambda)$

1. Coefficient Estimate

First result for the class is contained in

Theorem 2.1

A function f(z) defined by equation 1.2 is in the class $L_1^*(\alpha, \beta, \lambda)$ if and only if

$$\sum_{n=1}^{\infty} (1+\lambda|\beta_1|) |p+n| |a_{n+p}| \le \lambda p |(\beta_1+\beta_2)|$$
(1.3)

Proof: It follows that

$$\begin{aligned} \left| \frac{f'(z) - p \, z^{p-1}}{\beta_1 f'(z) + \beta_2 p \, z^{p-1}} \right| &= \left| \frac{-\sum_{n=1}^{\infty} (n+p) \, a_{n+p} \, z^n}{(\beta_1 + \beta_2) p - \beta_1 - \sum_{n=1}^{\infty} (n+p) \, z^n} \right| \\ &\leq \frac{\sum_{n=1}^{\infty} |n+p| \, |a_{n+p}| \, |z^n|}{|(\beta_1 + \beta_2) p \, | - |\beta_1| - \sum_{n=1}^{\infty} |n+p| \, |z^n|} \end{aligned}$$

1419 | Page

$$\leq \frac{\sum_{n=1}^{\infty} |n+p| |a_{n+p}|}{|(\beta_1+\beta_2)p| - |\beta_1| \sum_{n=1}^{\infty} |n+p|}$$

Therefore if f(z) satisfies the inequality (2.1), then $f(z) \in L_1^*(\beta_1, \beta_2, \lambda)$.

Conversely, it is simple to verify that if $f(z) \in L_1^*(\beta_1, \beta_2, \lambda)$, then

$$\sum_{n=1}^{\infty} (1+\lambda|\beta_1|) |p+n| |a_{n+p}| \le \lambda p |\beta_1 + \beta_2|$$

Corollary 2.1 If $f(z) \in L_1^*(\beta_1, \beta_2, \lambda)$ then we have $|a_{n+p}| \leq \frac{\lambda p |\beta_1 + \beta_2|}{(1+\lambda|\beta_1|) (n+p)} (n = 1, 2, 3, ...)$

Corollary 2.2 A function f(z) defined by (1.2) is in the class $L(\alpha, \beta, \gamma)$ if and only if

$$\sum_{n=1}^{\infty} (1 + \lambda \beta_1) (n+p) a_{n+p} \leq \lambda p (\beta_1 + \beta_2)$$

2. Distortion and covering theorem

Theorem 3.1 : If the function $f(z) \in L_1^*(\beta_1, \beta_2, \lambda)$ then

$$z^{p} - \sum_{n=1}^{\infty} \frac{\lambda p(\beta_{1} + \beta_{2})}{(1 + \lambda \beta_{1})(n+p)} z^{n+p} \leq |f(z)| \leq z^{p} + \sum_{n=1}^{\infty} \frac{\lambda p(\beta_{1} + \beta_{2})}{(1 + \lambda \beta_{1})(n+p)} z^{n+p}$$
(3.1)

Proof: Now $f(z) \in L_1^*(\beta_1, \beta_2, \lambda)$ then

$$\begin{aligned} |\mathbf{f}(\mathbf{z})| &= |\mathbf{z}^{\mathbf{p}} - \sum_{n=1}^{\infty} a_{n+p} \, \mathbf{z}^{n+p}|, \quad (a_n \in \mathbf{C}) \\ &\leq |\mathbf{z}^{\mathbf{p}}| + \sum_{n=1}^{\infty} a_{n+p} \, |\mathbf{z}^{n+p}| \end{aligned}$$

But $|a_{n+p}| \leq \frac{\lambda p |\beta_1 + \beta_2|}{(1+\lambda|\beta_1|) (n+p)} (n = 1,2,3,...)$

$$\begin{split} |\mathbf{f}(\mathbf{z})| &\leq |\mathbf{z}^{\mathbf{p}}| + \sum_{n=1}^{\infty} \frac{\lambda \mathbf{p}(\beta_1 + \beta_2)}{(1 + \lambda \beta_1)} |\mathbf{z}^{n+p}| \quad \text{and} \quad \text{also} \quad |\mathbf{f}(\mathbf{z})| &\geq |\mathbf{z}^{\mathbf{p}}| - \sum_{n=1}^{\infty} \frac{\lambda \mathbf{p}(\beta_1 + \beta_2)}{(1 + \lambda \beta_1)} |\mathbf{z}^{n+p}| \end{split}$$

And hence $z^p - \sum_{n=1}^{\infty} \frac{\lambda p(\beta_1 + \beta_2)}{(1 + \lambda \beta_1)(n+p)} z^{n+p} \le |f(z)| \le z^p + \sum_{n=1}^{\infty} \frac{\lambda p(\beta_1 + \beta_2)}{(1 + \lambda \beta_1)(n+p)} z^{n+p}$

1420 | Page

3. Modified Hadamard Product

Theorem 4.1 : If the functions f(z) and $g(z) \in L^*(\beta_1, \beta_2, \lambda)$ then $f * g \in L^*(\beta_1, \beta_2, \lambda)$ For $f(z) = z^p - \sum_{n=1}^{\infty} a_{n+p} z^{n+p}$ $(a_n \ge 0)$ and $g(z) = z^p - \sum_{n=1}^{\infty} b_{n+p} z^{n+p}$ $(b_n \ge 0)$ Then $f(z) * g(z) = z^p - \sum_{n=1}^{\infty} a_{n+p} b_{n+p} z^{n+p}$ Where $\gamma \ge \frac{\lambda^2 p(\beta_1 + \beta_2)}{(n+p)(1+\lambda\beta_1)^2 - \lambda^2 p \beta_1 (\beta_1 + \beta_2)}$ **Proof:** As f(z) and $g(z) \in L^*(\beta_1, \beta_2, \lambda)$

$$\frac{(1+\lambda\beta_1)(n+p)}{\lambda p(\beta_1+\beta_2)} \ a_{n+p} \leq 1 \qquad \text{ and } \qquad \frac{(1+\lambda\beta_1)(n+p)}{\lambda p(\beta_1+\beta_2)} \ b_{n+p} \leq 1$$

We have to find smallest number γ such that

$$\frac{(1+\gamma\beta_1) (n+p)}{\gamma p (\beta_1+\beta_2)} a_{n+p} b_{n+p} \le 1$$

By Cauchy's -Schwarz inequality,

$$\frac{(1+\lambda\beta_1)(p+n)}{\lambda p(\beta_1+\beta_2)} \sqrt{a_{n+p}b_{n+p}} \le 1$$

$$(4.1)$$

Therefore it is enough to show that

$$\frac{(1+\gamma\beta_1) (p+n)}{\gamma p (\beta_1 + \beta_2)} a_{n+p} b_{n+p} \leq \frac{(1+\lambda\beta_1) (p+n)}{\lambda p (\beta_1 + \beta_2)} \sqrt{a_{n+p} b_{n+p}}$$

That is $\sqrt{a_{n+p} b_{n+p}} \leq \frac{\gamma(1+\lambda\beta_1)}{\lambda(1+\gamma\beta_1)}$

From Equation (4.1) $\sqrt{a_{n+p}b_{n+p}} \le \frac{\lambda p (\beta_1 + \beta_2)}{(1 + \lambda\beta_1) (n+p)}$

Thus it is enough to show that

$$\frac{\lambda p (\beta_1 + \beta_2)}{(1 + \lambda\beta_1) (n + p)} \le \frac{\gamma (1 + \lambda\beta_1)}{\lambda (1 + \gamma\beta_1)}$$

Which is simplifies to

$$\gamma > \frac{\lambda^2 p(\beta_1 + \beta_2)}{(n+p)(1+\lambda\beta_1)^2 - \lambda^2 p \ \beta_1 \ (\beta_1 + \beta_2)}$$

4. Closure Theorem

Theorem 5.1 If $f_j(z) \in L^*(\beta_1, \beta_2, \lambda)$ $j = 1, 2, \dots, s$ then $g(z) = \sum_{j=1}^s C_j f_j(z) \in L^*(\beta_1, \beta_2, \lambda)$

Where
$$f_j(z) = z^p - \sum_{n=1}^{\infty} a_{n+p} z^{n+p}$$
 and $\sum_{j=1}^{s} C_j = 1$

 $= z^{p} - \sum_{n=1}^{\infty} \sum_{j=1}^{s} C_{j} a_{n+p,j} z^{n+p}$

Proof: $g(z) = \sum_{j=1}^{s} C_j f_j(z)$

$$= z^{p} - \sum_{n=1}^{\infty} e_{k} z^{n+p} \quad \text{where} \quad e_{k} = \sum_{j=1}^{s} C_{j} a_{n+p,j}$$
Thus $g(z) \in L^{*}(\beta_{1}, \beta_{2}, \lambda)$ if $\sum_{n=1}^{\infty} \frac{(1+\lambda\beta_{1})(n+p)}{\lambda p(\beta_{1}+\beta_{2})} e_{k} \leq 1$
That is if $\sum_{n=1}^{\infty} \sum_{j=1}^{s} C_{j} a_{n+p,j} \frac{(1+\lambda\beta_{1})(n+p)}{\lambda p(\beta_{1}+\beta_{2})} \leq 1$
 $\sum_{j=1}^{s} C_{j} \sum_{n=1}^{\infty} \frac{(1+\lambda\beta_{1})(n+p)}{\lambda p(\beta_{1}+\beta_{2})} a_{n+p,j} \leq 1$
 $=> f_{j}(z) \in L^{*}(\beta_{1}, \beta_{2}, \lambda)$

Theorem 5.2 : If f(z), $g(z) \in L^*(\beta_1, \beta_2, \lambda)$ then $h(z) = z^p - \sum_{n=1}^{\infty} \left[a_{n+p}^2 + b_{n+p}^2 \right] z^{n+p} \in L^*(\beta_1, \beta_2, \lambda)$ Where $\gamma \ge \frac{2 \lambda^2 p (\beta_1 + \beta_2)}{(1 + \lambda \beta_1)^2 (n+p) - 2 \lambda^2 \beta_1 p (\beta_1 + \beta_2)}$

Proof: $f(z), g(z) \in L^*(\beta_1, \beta_2, \lambda)$ and so

$$\sum_{n=1}^{\infty} \left[\frac{(1+\lambda\beta_{1})(n+p)}{\lambda p(\beta_{1}+\beta_{2})} \right]^{2} a_{n+p}^{2} \leq \sum_{n=1}^{\infty} \left[\frac{(1+\lambda\beta_{1})(n+p)}{\lambda p(\beta_{1}+\beta_{2})} \right]^{2} \leq 1$$
(5.1)

Similarly $\sum_{n=1}^{\infty} \left[\frac{(1+\lambda\beta_1)(n+p)}{\lambda p(\beta_1+\beta_2)} \right]^2 b_{n+p}^2 \le 1$ (5.2)

We show that $\sum_{n=1}^{\infty} \left[\frac{(1+\gamma\beta_1)(n+p)}{\gamma p(\beta_1+\beta_2)} \right]^2 \left[a_{n+p}^2 + b_{n+p}^2 \right]^2 \le 1$

$$=>h(z) \in L^*(\beta_1,\beta_2,\lambda)$$

Adding equation (5.1) and (5.2), we get

$$\frac{1}{2} \sum_{n=1}^{\infty} \left[\frac{(1+\gamma\beta_1) \ (n+p)}{\gamma \ p \ (\beta_1+\beta_2)} \right]^2 \ \left[a_{n+p}^2 + b_{n+p}^2 \right]^2 \le 1$$

That is enough to show

$$\left[\frac{\left(1+\gamma\beta_{1}\right)\ \left(n+p\right)}{\gamma\ p\ \left(\beta_{1}+\beta_{2}\right)}\right]^{2} \leq \frac{1}{2} \left[\frac{\left(1+\lambda\beta_{1}\right)\ \left(n+p\right)}{\lambda\ p\ \left(\beta_{1}+\beta_{2}\right)}\right]^{2}$$

By simplifying we get,

$$\gamma \geq \frac{2 \lambda^2 p \left(\beta_1 + \beta_2\right)}{(1 + \lambda \beta_1)^2 (n + p) - 2 \lambda^2 \beta_1 p \left(\beta_1 + \beta_2\right)}$$

5. Radius problem for the class $R(\alpha)$

In this section, we discuss some radius problems for the class $R(\alpha)$. To discuss our problems, we need the following lemma for the class $R(\alpha)$.

Lemma 6.1 If $f(z) \in R(\alpha)$ then, $\sum_{n=1}^{\infty} (n+p) |a_{n+p}| \le 1-\alpha$.

Corollary 6.1 If $f(z) \in R(\alpha)$ then $|a_{n+p}| \le \frac{1-\alpha}{(n+p)} \le 1$

Remark 6.1 By lemma 6.1 we see that if $f(z) \in R(\alpha)$ then

 $\sum_{n=1}^{\infty} (n+p) |a_{n+p}|^2 \le \sum_{n=1}^{\infty} (n+p) |a_{n+p}| \le 1 - \alpha$

Theorem 3.1 If $f(z) \in R(\alpha)$ and $\delta \in (0 < |\delta| < 1)$, then the function

 $\frac{1}{\delta}f(\delta z)$ belongs to the class $L_1^*(\beta_1,\beta_2,\lambda)$ for $(0 < |\delta| \le |\delta_0(\lambda)|)$

Where $|\delta_0(\lambda)|$ is the smallest positive root of the equation

$$h(|\delta|) = (1 + \lambda |\beta_1|) |\delta| \sqrt{(1 - \alpha) (2 - |\delta|^2)} - \lambda p |(\beta_1 + \beta_2)| (1 - |\delta|^2)$$

in $0 < |\delta| < 1$

Proof: For $f(z) \in R(\alpha)$, we see that

$$\frac{1}{\delta}f(\delta z) = z^p + \sum_{n=1}^{\infty} \delta^{n+p-1} z^{n+p} \text{ And } \sum_{n=1}^{\infty} (n+p) \left|a_{n+p}\right|^2 \le 1-\alpha$$

To show that $f(z) \in L_1^*(\alpha, \beta, \lambda)$, we need to prove that

$$\sum_{n=1}^{\infty} (1+\lambda|\beta_1|) |n+p| |a_{n+p}|\delta^{n+p-1} \leq \lambda p |(\beta_1+\beta_2)|$$

from theorem 2.1 Applying Cauchy-Schwarz inequality, we note that

 $\sum_{n=1}^{\infty} (1+\lambda|\beta_1|) (1+\lambda\beta_1) |n+p| |a_{n+p}| \delta^{n+p-1}$

$$\leq \frac{[1+\lambda\beta_{1}]}{|\delta|} \left\{ \left(\sum_{n=1}^{\infty} (n+p) |a_{n+p}|^{2} \right)^{1/2} \left(\sum_{n=1}^{\infty} (n+p) |\delta|^{2(n+p)} \right)^{1/2} \right\}$$

$$\leq \frac{[1+\lambda\beta_{1}]}{|\delta|} \left(\sum_{n=1}^{\infty} (n+p) |\delta|^{2(n+p)} \right)^{1/2} \sqrt{1-\alpha}$$

We note that

$$\sum_{n=1}^{\infty} (n+p) |\delta|^{2(n+p)} = \frac{|\delta|^4 (2-|\delta|^2)}{(1-|\delta|^2)^2}$$

Therefore we show that

$$\sum_{n=1}^{\infty} (1+\lambda|\beta_1|) |n+p| \left| a_{n+p} \right| \delta^{n+p-1} \le \frac{(1+\lambda\beta_1)|\delta|}{(1-|\delta|^2)} \sqrt{(1-\alpha) (2-|\delta|^2)}$$

Now, let us consider the complex $\delta \in (0 < |\delta| < 1)$, such that

$$\frac{(1+\lambda|\beta_1|)|\delta|}{(1-|\delta|^2)}\sqrt{(1-\alpha)(2-|\delta|^2)} = \lambda p|(\beta_1+\beta_2)|$$

If we define the function $h(|\delta|)$ by

$$h(|\delta|) = (1 + \lambda |\beta_1|) |\delta| \sqrt{(1 - \alpha) (2 - |\delta|^2)} - \lambda p |(\beta_1 + \beta_2)| \quad (1 - |\delta|^2)$$

then we have that

$$h(0) = -\lambda p |(\beta_1 + \beta_2)| < 0$$
 and $h(1) = (1 + \lambda |\beta_1|) \sqrt{1 - \alpha} > 0$

This means that there exists some δ_0 such that $h(|\delta_0|) = 0$ $(0 < |\delta_0| < 1)$.

This completes the proof of the theorem.

REFERENCES

- Xiao-Fei Li and An-Ping Wang, Some Properties of Some Subclasses of Univalent Functions J. Applied Mathematical Sciences, Vol. 6, 2012, no. 54, 2687 – 2693
- [2] A.W. Goodman, Univalent Functions, vols. 1 and 2, Mariner, Tampa, FL, 1983.
- [3] P.L.Duren, Univalent Functions, Springer-Verlag, New York/Berlin/Heidelberg /Tokyo, 1983.
- [4] Kim.H.S, Lee.S.K, Some classes of univalent functions, Math Japan, 32(1987), 781-796.
- [5] O.Altintas, S.Owa, On subclasses of univalent functions with negative coefficients, Pusan Kyongnam Math.J, 4(1988),41-46.
- [6] M.D.Hur, G.H.Oh,On certain class of analytic functions with negative coefficients, Pusan Kyongnam Math.J, 5(1989), 69-80.
- [7] H.Silverman, Univalent functions with negative coefficients, Proc. Amer. Math. Soc, 51(1975), 109-116.
- [8] K.Aouf, Nak Eun Cho, On a certain subclass of analytic functions with negative coefficients, Tr. J. of Mathematics, 22(1998),15-32.